Mark and Laura rode their bikes into town, they stopped at the ice-cream store for a cone, then 
							(1)				(2)
they rode to the zoo; they did not go inside.
			(3)

1.	A.	NO CHANGE
	B.	town they stopped at the ice-cream store
	C.	town. They stopped at the ice-cream store
	D.	town they stopped. At the ice-cream store

2.	A.	NO CHANGE	
B. 	cone, and then they rode
	C.	cone then they rode
	D.	Omit the underlined

3.	F.	NO CHANGE
	G.	zoo, and they did not go inside.
	H.	zoo, however they did not go inside.
	J.	zoo, because they did not go inside.

There are lots of animals at the zoo I like to go there on the weekends.  I really like the 
					(4)
monkeys, they are so much like people.  Sometimes I make faces at 
		(5)
them, sometimes they make faces at me.
		(6)

4.	A.	NO CHANGE
	B.	at the zoo. I like to go there
	C.	at the zoo, I like to go there
	D.	at the zoo, therefore I like to go there

5.	A.	NO CHANGE
	B.	monkeys they are so much like people.
	C.	monkeys because they are so much like people.
	D.	monkeys where they are so much like people.

6.	A.	NO CHANGE
	B.	them, they sometimes make faces at me.
	C.	them; sometimes they make faces at me.
	D.	Omit the underlined
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